EARAZROREIERT — 2 N—XBISY —F 2019548130 (+) 2[EIBR##7H

Wil v >% 4%t 1000FF (RA) UEE] £ (xwlw | lmEmml - |5 %) oom 8
[A&4£] 1 7 11,000,000 § 2 7% :4,400,000 § 3 7% :2,800,000 § 4 3% :1,700,000 5 7% :1,100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i : t 4 | C. AU 2:05.4 10-10-11-7 | 36.8 | 103.0 | 1 53 |ENEE (EX)
1|18 7TAHLI—LE ' 57.0 =) Gg | B) *vOy kT
L= RFU2— B:vFHZFIAIIAL J—¥rTr— L
= o [0 0% o SEIRER :05. —12-10- . . TEBX (EXR)
2 5 SLRYLE4Z— 4 5 = (21055/47) 12-12-10-4 | 37.4 | 100.5 | 13 (4_528) e
L:Hv—N—F B:T71—-L¥T7> =E R
s = 2 o4 | HE 2:06.0 2-2-2-2 [38.3| 98.0 | 2 476 | AEHNT (RR)
31814 Z'7_'777QZ % g7.0 2) (+6) (H:):\IIICKS
L:N=YT7F514 B:NA by AS (B) A3 -FRL—->a>aEI7
R o — ETEAS : -13-11- HhE— (FX)
a2l vy 7—ams1 H o7 24 2.(056).9 14-13-11-11{ 38.4 | 90.0 | 9 51_7‘;4) aal=
R:Nd B4 T7x2R8— B #Bz
. — A, TazIgT : —4-4- MAE (EX)
515/9| @917 40F 1% CINIRE S S R et IR A B 1V
W AFA D=L K BEaAXETrLUF AXETa—T7—L4h
= o 44 | BERMAETT 2:06.9 15-15-15-13| 37.9 | 89.9 | 6 498 | FHEE (RR)
6|8|15| T~ 71 XtTF 57.0 ) o) | BEER
R:HTIRIAY BiEyIIU—> paiutie)
< s D AT . -0-8— FAESE (EXR)
SrZba—x [B] > 6| MHE 2(.10/72.>o 9-9-8-7 [38.6| 89.3 | 10 (5_%4) (E;aﬁélﬁz*iz
R:vNyBLHT1 B:FU-X> (B) #A3—-RKL—va>aE77r
57 . _Q_Q_ %IF] 3.:\
FTLZTFX 4 é'sl_ﬂgm’é 2.(027).3 8-8-8-11 |39.0 | 86.9 | 4 ;1_783) ;Eén (®%)
R:€r/a704 B:FLZY43 WweE S Hs
o . MERSE : -1-1- =2A1E (ER)
P-4 T5A i 7 R R I B Bl 115
LYz —N—F B:H¥IRF7Ya— JEl ER
. = N Pataslid :08. -0 . . BRE (FEXR)
55y RS TIL 4 5 = (21018/20) 2-2-2-2 | 40.4| 82.3 | 7 (Tf) S AR
RPNy EEHhTT B:UUT—L BH 77— L
e 2 B : 57— BUAE (EX)
JLA—mTX i 5 s 2(.30/%1 2-5-7-7 |39.9| 81.0 | 3 z:g;@ s
R:2Av—h77)a> B:O-T5143— af# FE
PS5, 8 6 | dttiR— 2:08.1 12-13-14-15/ 39.1 | 80.1 | 14 472 | BEEM (EX)
S = 57.0 (75%) © | @ *ravr7r-—n
SFA =TT b BiLF g K=o I=52Fp=bh
— - . 4 BE
TJIWZXFILZ—)b 44 gguégﬂz 2(.10}32.)2 6-5-4-4 | 40.3| 80.6 | 8 :3;62) a}é}?&i €39
L:viNnNyarhTr BiAyrFavh—Fz #"HET7— L4
S IRFIBE :08. -10-11- . . ARA— (FER)
X—T— gLy k it 4 ikl 2 (048) 9 10-10-11-14| 40.3 | 75.0 | 15 (4_520) Esﬂgﬁww
RFATAT v — Biy—~S—ULy b J—HrIr—L
.‘EI‘\ . -y =
NTH AR — #o4 | BEED 2.(029>.2 6-5-4-7 |41.2| 73.8 | 12 ::33) Eﬁ%ﬁi@%)
L:yA7% B:YICRII—T &I E—
@ 21 L
£ 50.6-37.9
NA>24 L | 12.6-11.6-11.8-13.0-12.9-12.9-12.7-12.7-12.4-12.8
® 1—F—@EBIERL
1T=7r= 7(8,14,9,10)-(1,2)-4-11(6,13) (3,5)12,15
Pal=5F= 7(8,14)9(1,2,10)-4-11(6,13)5(3,12) 15
Jo=5r= 7(8,14)(1,2,9)10(4,11)5(6,12,13)-3,15
43—+ — (x7,8,14) (1,9,5) (2,10,11,13) (4,12)15,6,3
[ RN
B 13 260M 714K 5-13 3,510 e E 3-7 2,090 JEE 5-13-14 7,800
8 B 13 160/ 13-14 220M B = 5-13 12,700M JEH 13-5-14 49,960/
5 1,060 5-14 2,750 B H 13-5 17,230
14 140/

ABICOVWTRDTEEERROODE. TR LIV,



